Question Scheme Marks AOs

5@ | det(m) = (2)(1) - (\/5)(—\/5) M1 | 11a
M is non-singular because det(M) = 4 and sodet(M) = 0 Al 24
(2
(b) Area(S) = 4(5) = 20 Bift | 1.2
1)
© e \/(1)(1) - (\/5)(—x/§) ML | L1b
=2 Alft | 1.1b
(2
(d)
cos@:% or sin&:? or tan€=«/§ M1 1.1b
0 = 60° or% Al | 11b
(2
(7 marks)
Notes:
(a)
M1:  Anattempt to find det(M).
Al: det(M) = 4 and reference to zero, e.g. 40 and conclusion.
(b)
B1ft: 20 or a correct ft based on their answer to part (a).
(©)
M1: (their detM)
Alft: 2
(d)
M1: Eith 0= ing = tand =+/3
ither cos (heir ) or sin (heir k) or tan \/_
Al: =60 or % Also accept any value satisfying 360n + 60°, neZ, o.e.




